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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 755 96.59 | =nRS | 000 ~ 7.55| 1.93 9.76 st 1.00 | .00 ~ 1178 96.59 | ThLS | 5,00 ~ 11.78| 1.93 9.76
2 100kN/mM#E#BZ5 | 1.00 | 000 ~ 0.79 111.77 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1069 ~ 1295| 11177 |3m&E#Z5 -~ — — —
s 1.00 | 079 ~ 857 100.00 | #nlst | 0.00 ~ 8567|228 11.51 st 1.00 | 6.00 ~ 1069 100.00 | =nst | 5.00 ~ 1295| 2.28 11.51
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 7.39 94.33 | =hLS | 000 ~ 000 1.75 8.83 st 1.00 | 5.00 ~ 9.58 94.33 | ThLS | 5,00 ~ 958| 1.75 8.83
4 100kN/m%E#8z5 | 1.00 | 000 ~ 025 10371 |3mz#8zZ3B| — ~ — — — | 100kN/ %8825 | 1.00 | 1063 ~ 11.30| 103.71 |3m%E#Z5 -~ — — —
s 1.00 | 025 ~ 804 100.00 | #nlst | 0.00 ~ 804 | 2.26 11.43 st 1.00 | 6.00 ~ 1063 100.00 | =nst | 5.00 ~ 1130 2.26 11.43
5 100kN/m%E#8z5 | 1.00 | 000 ~ 027 10400 |3mZEEzZ3B| — ~ — — — | 100kN/ %8825 | 1.00 | 10566 ~ 11.30| 104.00 |3m%E#Z5 - ~ — — —
s 1.00 | 0.27 ~ 806 100.00 | =nst | ooo ~ 806|215 10.87 st 1.00 | 6.00 ~ 1056 100.00 | =4t | 6.00 ~ 11.30| 2.15 10.87
P 100kN/mM#E#BZ5 | 1.00 | 000 ~ 049 107.33 |3mZEBAD| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1053 ~ 1190 107.33 |3mE#BZ% - ~ — — —
s 1.00 | 049 ~ 828 100.00 | #nlst | 0.00 ~ 828\ 2.20 11.14 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1190 2.20 11.14
- 100kN/m%E#8z5 | 1.00 | 000 ~ 032 10476 |3mz#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 10563 ~ 11.40| 10476 |3m%E#Z5 -~ — — —
s 1.00 | 032 ~ 811 100.00 | =nst | 000 ~ 811|219 11.07 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 11.40| 2.19 11.07
P 100kN/m%E#8z5 | 1.00 | 000 ~ 032 104.75 |3mx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 10563 ~ 11.40| 104.75 |3m%E#Z5 -~ — — —
s 1.00 | 032 ~ 811 100.00 | =4 | 0oo ~ 000\ 1.77 8.97 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 11.40| 1.77 897
9 100kN/mM#E#BZ5 | 1.00 | 000 ~ 0.39 1056.74 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10565 ~ 11.60| 105 74 |3m%E#Z5 -~ — — —
s 1.00 | 039 ~ 817 100.00 | =nlst | 000 ~ 817 | 2.22 11.21 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 1160 2.22 11.21
10 100kN/mM%E#BZ5 | 1.00 | 000 ~ 0.39 1056.74 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10565 ~ 11.60| 105 74 |3m%E#Z5 -~ — — —
s 1.00 | 039 ~ 817 100.00 | #nlst | 000 ~ 817 | 2.22 11.21 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 5.00 ~ 1160 2.22 11.21
11 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 4.69 5846 | FnRS | 0.00 ~ 469 | 1.83 9.25 st 1.00 | 6.00 ~ 5.00 58.46 | TnLS | 5.00 ~ 6.00| 1.83 9.25
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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